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1) * xisatleast13”

a) x<13 b) x£13 ¢) x>13

2) Thegraphof x=n is

a) An horizontal line -a; vertical line 3 ¢) an x-intercept

d) a y-intercept

3) 15is25% of what number?

a) 30 3 ¢) 90 d) 120 :
4) The GCF of (18 x%y*, 30x%, 6 x°y° ).
a) 6 y'x° ) g 06y’ d) 2x”
5) The decimal notation of the number 3.27 x10™° is :
a) 0.00000327 b) 0.00327 d) 0.000327

6) The x-intercept of the line in the figure is :

a) (0,1) b) (0,2)

d) (2,0)
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7) The degree of the polynomial 9y%x3 — 10x° + 4y5x + 7x* + 10 is

- 4 b) 7 )6 d)4

2x
8) The excluded value of the rational expression 3—

/ -
a) zero b) 2 c) -3 C’
9) Subtract:  (-3a’b® + 3ab - a) - (Sa’b* - 2ab + b).
a) -8a’b* - 5ab + b’ - a b) -8a’b* - 5a’b* + b’ + a
c)-8a’b’ + Sab-b*- a d) 2a’h’ - Sab + b* + a
10) Determine whether each of the following is a perfect square trinomial
a) x* - 8x-16 b) 4x> + 20x -25 ) 9% +12x +4 d) 4x° - 6x +9

(3¢ +2) (34D = (3x+2)
?
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Question 2 (2 Marks)
Perform and simplify the following:

(2x5+6x4+4x) ¥

Question 3 (2 Marks)

Perform and simplify the following polynomial :

(5xy? — 4x?y + 5x% + 2) + (—2x2y + 3xy? — 3x3y — 5)

= 5X5~6XL3 8 S ely

E34y +54 —éxl%gxfmj

Question 4 (2 Marks)

Solve the equation

x(x—5) =14 .
%’XL-%X—:M- —;éx G h=lh =0 .-_—_?(x—?)()(ﬂ):o
)(__7_-;(9 OY‘X—Q'Z-:@

X =(7) X":@
(7/“1) ::‘}3\
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Question 5 (2 Marks)
Solve the inequality:

5-11y < 3-9y
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Question 6 (2 Marks)
Graph the line y = %x +3 | .
o

X \©O 5, /"//’

2Lr -

o O S'FR{‘ ‘ :

(O/ 3) (3, 4)
2 A 6’ v
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